MATHEMATICS: SUBSTITUTIONS DEMO (D-2) Name:

ADDITION AND SUBTRACTION WITH BRACKETS II
Time:

Score:

9) Simplify algebraic expression
((Tx 4+ 2x 4+ 0x) + (3y — 3y)) + 8z =

Solve forx =1,y =2

)
b) Solve forx =1,y =28
¢) Solve forz =0,y = 10

10) Simplify algebraic expression
((10x — 2z) + (32 + 5x) + 3y) — Tz =

Solve forx =0,y =6

)
b) Solveforz =1,y =1

¢) Solveforx =2,y =0

11) Simplify algebraic expression
8z + 4y — ((Yy +8x — Yy + Oy)) =

Solve forx =4,y =3

)
b) Solve forx =3,y =4

¢) Solveforx =7,y =25

12) Simplify algebraic expression
((x 4+ 92 4+ 6y)) — ((8x — 6x + 2x)) =

a) Solveforz =0,y=1

b) Solve forz =3,y =0

c) Solveforx =2, y=1

Mathematics: Substitutions Demo - Set 2 4


https://www.workulum.com

